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a— R st Fik | B (kg) &% (1) =il hE | TR PE M (BAD
130100 |72V T A 48 1,210 43 22 16 | B 487
30300 |AB 2 78 43 43 43| &M 2kg
31100 B3 15 540 540 540 540 | B 17 —2=
132600 |FL 3 454 32 32 32| BN 143K
31700 | F ¢ XY 40 475 119 119 119 | BH 410
31700 |F ¥ 100 1,436 324 108 108 | &M 10— 2R
31800 [H1EH AR 30 11, 653 97 86 59 B 1523
31950 |HAE 3 756 76 76 76| BA 104%
31900 Q¥ 3 432 216 108 108 | &M 3kg
31420 &3 2 86 22 22 221 BN 43R
35220 | EF M XHE 3 1, 469 540 540 497 | BN 3kg
35300 | B°— R 1 529 756 756 756 | BN lkg
135303 | RFuTEZAED 1 389 324 324 324 BN lkg
| Y3033 | ZEHAT 110 14, 472 238 130 76 | BN 110kg
36200  BEAE 50 4,968 108 108 65| &M 50kg
133200 AV TTU— 5 1,080 108 108 97 | BN 1018
33300 | Tyl — 24 3,853 65 54 24 | B 801
38100 [ZELW=iF 1 1, 166 1, 458 1,458 1,458 | &M 1kg
41807 (AA — hRTY T 6 1,674 32 32 22| B 601
46108 | X UF DM EE 20 21,611 356 324 238 | BN 68/% 7
71011 | A7 L—3 23,706 43 32 27 BA 73074
71030 | KT &+ 5, 378 76 36 22 | B 11404
21032 K&+ (FF) 6, 086 70 65 32| BN 1124
71150 | LiT 929 54 54 22| B 233
CZ1179 B F 324 108 108 108 | &MY 33
71286 | m—J L 4, 833 119 108 38| BA 464
53456 | 7= 7gik 4 778 216 216 216 | B 4kg
Y5004 |34 18 7,776 432 432 432 | BN 18kg
Y5010 iobsE (H) 4 3,100 " 756 756 756 | B 4kg
30100 1722 A L 250 1,706 11 6 6B 2504
30200 | A 16 804 18 18 11| RS 527K
30300 A% L 80 7,128 1, 080 864 864 | IR} 84— R
30400  ZiEH 3L 10 972 540 540 432 IR E 24— R
30600 (NLAZ A 4S 4 324 324 324 324 R 1r—=
31100 H3E 405 5,821 324 216 184 | VLB 21— A
31100 A M 135 1, 264 173 162 108 |5 94— 2
31200 LR 8 3,456|. 1,728 1,728 1,728 | IR G 27—
31200 L3 4 1,080 54 54 54 | IR 204%
33500 HT HHE L 2 648 32 32 22 | 18 us
33810 FHHHEFE 8 1,728 54 54 32 BIRE 4048
Y5005 4 7KZEA 5 1, 566 1,566 1,566 1,566 | K4y 1 —2
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a— K gD Hfh | PERR (kg) &% (M) =il il 2R P Hh (BAL)
32600 |F% 4 864 43 43 13| BRE 204%
31730 (Y —rAR— 140 875 108 54 54 | BIRE 144 — A

131950 HAX 39 2, 160 216 162 162 | E I 134 — %
31950 HAX B 30 3,672 540 324 324 | EIRE 10—
31900 X M 9 2, 052 216 108 108 |EIR & 17738 (500g)
31930 | ZHh¥ 3 886 32 32 24 | EIRE RIES]
32800 (15 S 10 3, 240 43 43 22 | B IR " 1003
34300 723 2L 15 4, 536 1,512 1,512 1,512 KA 34— A
34400 | b=k x 14 5, 702 119 119 119 |REA 48/ 7
34460 =Lt F & M 5| 2, 592 108 108 108 |28 S 2428 Y
34100 #AK 10- 2,916 1,620 1,620 1,296 |FEIE & 22—
34100 | HK B M 20 4, 968 1,404 1,188 1, 188 | "= I 44— R
34571 | XF YA GR) 1 540 108 108 108 |8 [H 548
34572 [T U H () 1 648 130 130 130 | & EH 5{H
133400 L& 2 30 2,203 43 32 32 | Rk 601
32900 ALY — 2 324 162 162 162 | & [ 2
33600 |3t Y 1 270 54 54 54 | & 54%
38100 A& LWoiF A M 2 1, 361 76 76 76 |BIRE 183y 7
138100 |[AE LW T B 2L 10 5, 508 65 54 54 | = IR 10078 &
31310 AT 5 2, 160 86 86 86 | 1& [ 254%
31500 |/MRAZE 12 4, 320 76 76 65 |5 6043
32500 |HoiE 1 324 32 32 32 | f& 103

37560  BRIT 1 1, 080 108 108 108 | K%y 1078y 7
36400 |Z2A3 VD 2L 10| 4,104 4,104 4,104 4,104 | F# 17—
38521 | S LOHULE 3 3,564 119 119 119 | f&lH 304%
40100 | A 120 23, 328 1,944 1,944 1,944 | fEA 124 — 2R
40100 | AH A L 40 5,724 1,512 1, 404 1,404 | EIR B 44—
42132 FKBEYD AT 30 5, 184 864 864 864 | F B 64— A
42133 (v ) AL — b 20 4,104 1,080 972 972 | BB 44— R
43800 | L#h K 10 8, 640 270 270 270 |REA 39,8y 77
46007 |FLiE -2 M 2 1, 426 238 238 238 | IR 6%y 7
49100 | FF 60 14, 580 3,024 3,024 2,808/ 74 VY 5 —2R
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